

Letting Date

Award Date

Execution Date

Work Begin Date

Notice to Proceed Date

Original Completion Date

Adjusted Completion Date

Substantial Work Complete

20171215

20180104

20180104

20180205

20180828

20181001

20190501

20190517

	Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
	171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Contractor	Vendor ID	Address	City	State	ZIP	Telephone	FAX
Pace Construction Company	0011270	1620 Woodson Road	St. Louis	MO	63114	(31-4)5-24-7	(31-4)9-91-5

Job Number	Federal/State Project Number	Description of work	Route Number	County	Location of work
J9S3192	FAS-S701(015)	Resurfacing	95	DOUGLAS	from Clouse Street to Route 76
J9S3192	FAS-S701(015)	Resurfacing	95	WRIGHT	from Clouse Street to Route 76
J9S3193	FAS-S701(016)	Resurfacing	38	TEXAS	from Route 95 to Route 17
J9S3193	FAS-S701(016)	Resurfacing	38	WRIGHT	from Route 95 to Route 17
J9S3194	FAS-S702(042)	Resurfacing	НН	WRIGHT	from Route Y to end of MoDOT Maintenance
J9S3343	FAS-S702(031)	Resurfacing	Z	WRIGHT	from the intersection of Route H to the intersection of Rout e 5
J9S3429	FAF-60-3(117)	Resurfacing	Bus 60	WRIGHT	from Route 5 to Jennifer Street

Critical Date	Actual Date	Key Date	Subject	Date Contractor Assumed Maintenance	Disturbed Area on Project	Authorized Area on Project	
Final Acceptance Date	0				0	0	Acres
Physical Work Complete Date	0						
Contract Items Complete Date	0						
Price Adjustments Base Date	20171215						

Date					
Open to Tra	affic Date	20190517			
Totals by Job Number					
J9S3192			To Date	Previous	This estimate
	Participating		\$626,111.87	\$623,451.87	\$2,660.00
	Non- Participating		\$0.00	\$0.00	\$0.00
	Total		\$626,111.87	\$623,451.87	\$2,660.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Totals				
by Job				
Number				
	Earnings			
	Stockpiled	\$0.00	\$0.00	\$0.00
	Materials	φυ.υυ	φ0.00	φυ.υυ
	Gross	\$626,111.87	\$623,451.87	\$2,660.00
	Earnings	Ψ020,111.01	ψ020, 10 1.01	Ψ2,000.00
	Other	\$233,217.18	\$233,217.18	\$0.00
	Adjustments Retainage	\$0.00	\$0.00	\$0.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated	·		
	Damages	(\$16,000.00)	(\$16,000.00)	\$0.00
	Overrun	\$0.00	(\$2.941.09)	\$2,841.08
	Adjustments		(\$2,841.08)	\$2,041.00
	Total:	\$843,329.05	\$837,827.97	
			Total Payable:	\$5,501.08
J9S3193		To Date	Previous	This estimate
	Participating	\$990,804.17	\$985,804.17	\$5,000.00
	Non-	\$0.00	\$0.00	\$0.00
	Participating	******	*****	, , , , ,
	Total Earnings	\$990,804.17	\$985,804.17	\$5,000.00
	Stockpiled			
	Materials	\$0.00	\$0.00	\$0.00
	Gross	*****	****	*= 222 22
	Earnings	\$990,804.17	\$985,804.17	\$5,000.00
(Other	\$104,688.31	\$97,246.91	\$7,441.40
	Adjustments			
	Retainage	\$0.00	\$0.00	\$0.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive Liquidated	(\$122,400.00)	(\$122,400.00)	\$0.00
	Damages	(\$16,000.00)	(\$16,000.00)	\$0.00
	Overrun			
	Adjustments	\$0.00	(\$537.95)	\$537.95
	Total:	\$957,092.48	\$944,113.13	
		· , · ·	Total Payable:	\$12,979.35
J9S3194		To Date	Previous	This estimate
	Participating	\$257,248.07	\$254,708.07	\$2,540.00
	Non-	\$0.00	\$0.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

		171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG	
Totals										
by Job										
Number										
	Participating									
	Total	ΦO	7 040 07		¢οσ	4 700 07				CO 540 00
	Earnings	\$23	57,248.07		\$∠54	4,708.07				\$2,540.00
	Stockpiled		\$0.00			\$0.00				\$0.00
	Materials		Ψ0.00			ψ0.00				Ψ0.00
	Gross	\$2!	57,248.07		\$254	4,708.07				\$2,540.00
	Earnings	V -V	,		4 -0	.,				ΨΞ,σ :σ:σσ
	Other	\$2	25,321.78		\$25	5,321.78				\$0.00
	Adjustments Retainage		\$0.00			\$0.00				\$0.00
	Incentive		\$0.00			\$0.00 \$0.00				\$0.00
	Disincentive	(\$5	9,400.00)		(\$50	,400.00)				\$0.00
	Liquidated	(ΨΟ	,		(ψΟΟ					
	Damages		\$0.00			\$0.00				\$0.00
	Overrun		#0.00		/ .	011 50)				¢4 044 50
	Adjustments		\$0.00		(\$4	,811.50)				\$4,811.50
	Total:	\$22	23,169.85			5,818.35				
					Total F	Payable:				\$7,351.50
J9S3343			To Date			revious				This estimate
	Participating	\$52	25,418.52		\$520	0,268.52				\$5,150.00
	Non-		\$0.00			\$0.00				\$0.00
	Participating		Ψ0.00			ψ0.00				Ψ0.00
	Total	\$52	25,418.52		\$520	0,268.52				\$5,150.00
	Earnings Stockpiled									
	Materials		\$0.00			\$0.00				\$0.00
	Gross									
	Earnings	\$52	25,418.52		\$520	0,268.52				\$5,150.00
	Other	0.0	7 450 00		0.0	7.450.00				#0.00
	Adjustments	\$6	67,156.69		\$6	7,156.69				\$0.00
	Retainage		\$0.00			\$0.00				\$0.00
	Incentive		\$0.00			\$0.00				\$0.00
	Disincentive	(\$6	6,600.00)		(\$66	,600.00)				\$0.00
	Liquidated		\$0.00			\$0.00				\$0.00
	Damages		+			,				Ţ 310 0
	Overrun Adjustments		\$0.00			\$0.00				\$0.00
	Total:	\$53	25,975.21		\$520	0,825.21				
	i otal.	ΨΟΖ	-0,010.21			Payable:				\$5,150.00
J9S3429			To Date			revious				This estimate
3000423			10 Date		F	TEVIOUS				i ilis estilliate



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

				04.10 2, 2010	000 00, 20.0	ou., ., _ o . o		 	
Totals by Job lumber									
Particip	ating	\$	239,089.28		\$236	5,589.28			\$2,500.00
Non- Particip	pating		\$0.00			\$0.00			\$0.00
Total Earning	gs	\$	239,089.28		\$236	5,589.28			\$2,500.00
Stockpil Materia			\$0.00			\$0.00			\$0.00
Gros Earning		\$	239,089.28		\$236	5,589.28			\$2,500.00
Other Adjustm			\$24,662.86		\$24	1,662.86			\$0.00
Retaina			\$0.00			\$0.00			\$0.00
Incentiv		(4	\$0.00		(† 4.0	\$0.00			\$0.00
Disince Liquidat Damage	ited	(1	\$46,800.00) \$0.00		(\$46	,800.00) \$0.00			\$0.00 \$0.00
Overrur Adjustm	n		\$0.00		(\$8	,610.53)			\$8,610.53
Total:		\$	216,952.14			5,841.61 Payable:			\$11,110.53
	nens	\$	216,952.14						

Total Contract				
171215-H02		To Date	Previous	This Estimate
	Line Item Pay	\$2,638,671.91	\$2,620,821.91	\$17,850.00
	All Adjustments	\$127,846.82	\$103,604.36	\$24,242.46
	Total	\$2,766,518.73	\$2,724,426.27	\$42,092.46

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20190701	Generated and Approved (and should be considered Draft) at the Project Office Level by	voyleb1
20190701	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	pullia
20190702	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount	Net Change Order Amount to Date	Current Contract Amount	% of current contract amount complete
\$2,644,999.99	(\$6328.11)	\$2,638,671.88	100.0%



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Contract Adjustments:

l ine Iter	n Adjusti	monte:			
Project Number	Line Number	Entered by User	Adjustment Type	Line Item Adjustment Amount	Remarks
J9S3192	0020	SYSTEM	Overrun Re- adjustment	\$2841.08	Overrun Re-adjustment created for the previous line item overrun adjustment: Est Nbr: 0002 Prj Nbr: J9S3192 Line Item Nbr: 0020 Adjust Type: OVRN Adjust Seq Nbr: 1
J	9S3192			\$2841.08	
Project Number	Line Number	Entered by User	Adjustment Type	Line Item Adjustment Amount	Remarks
J9S3193	0170	SYSTEM	Overrun Re- adjustment	\$537.95	Overrun Re-adjustment created for the previous line item overrun adjustment: Est Nbr: 0008 Prj Nbr: J9S3193 Line Item Nbr: 0170 Adjust Type: OVRN Adjust Seq Nbr: 1
	0240	voyleb1	Retroreflectivity Adjustment	\$666.42	Route 38 Paid Retroreflectivity results Adjustment
	0240	voyleb1	Substandard Item	\$3217.05	Route 38 Paid remaining 20% of striping after recieving reflectivity results.
	0250	voyleb1	Retroreflectivity Adjustment	\$711.59	Route 38 Paid Retroreflectivity results Adjustment
	0250	voyleb1	Substandard Item	\$2846.34	Route 38 Paid remaining 20% of striping after recieving reflectivity results.
J	9S3193			\$7979.35	
Project Number	Line Number	Entered by User	Adjustment Type	Line Item Adjustment Amount	Remarks
J9S3194	0330	SYSTEM	Overrun Re- adjustment	\$4811.50	Overrun Re-adjustment created for the previous line item overrun adjustment: Est Nbr: 0004 Prj Nbr: J9S3194 Line Item Nbr: 0330 Adjust Type: OVRN Adjust Seq Nbr: 1
J	9S3194			\$4811.50	
Project Number	Line Number	Entered by User	Adjustment Type	Line Item Adjustment Amount	Remarks
J9S3429	0570	SYSTEM	Overrun Re- adjustment	\$8610.53	Overrun Re-adjustment created for the previous line item overrun adjustment: Est Nbr: 0004 Prj Nbr: J9S3429 Line Item Nbr: 0570 Adjust Type: OVRN Adjust Seq Nbr: 1
J	J9S3429 \$861			\$8610.53	
	Summary			\$24242.46	

- 5 of 11 - Revised 05/12/14



Discrepancies:

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

		Di	screpancy Message	Res	olved By U	lser ID	F	Remarks	
Milestone 01	is not reached.			voyleb1		Liqui	dated Damages we	re assessed.	
Line Item # J	J9S3192 /500	1 has a defic	ient tested matl discrepancy	voyleb1		Awai	ting material report		
Milestone 02	is not reached.			voyleb1		Liqui	dated Damages we	re assessed.	
Line Item # J	J9S3193 /510	1 has a defic	ient tested matl discrepancy	voyleb1 Awaiting material report					
Milestone 04	is not reached.			voyleb1 Liquidated Damages were assessed.					
Line Item # J	J9S3194 /520	1 has a defic	ient tested matl discrepancy	voyleb1 Awaiting material report					
Line Item # J	J9S3343 /530	1 has a defic	ient tested matl discrepancy	voyleb1 Awaiting material report					
Line Item # J	J9S3343 /530	2 has a defic	ient tested matl discrepancy	voyleb1 Awaiting material report					
Line Item # J	J9S3429 /540	1 has a defic	ient tested matl discrepancy	voyleb1		Awai	ting material report		
Line Item # J	J9S3429 /057	0 has a defic	ient tested matl discrepancy	voyleb1		Awai	ting material report		
All Items	, This Estin	nate:							
Project Number	Line Item Number	Item Code	Description		Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate
J9S3192	0020	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEV	/ELING)	\$51.75	9740.80	0.00	9,740.80	\$0.00
	0070	6161009	FLAG ASSEMBLY		\$20.00	4.00	8.00	12.00	\$160.00
	5001	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/		\$2500.00	0.00	1.00	1.00	\$2500.00
			J9S3192						\$2660.00
Project Number	Line Item Number	Item Code	Description		Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate
J9S3193	0170	4071005	TACK COAT		\$2.03	18345.00	0.00	18,345.00	\$0.00
	0240	62060000	A IN WHITE STANDARD WATERRORNE PAVEMENT MARKIN	IC PAINT	\$0.00	178726 00	0.00	178 726 00	20.00

Project Number	Line Item Number	Item Code	Description	Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate	
J9S3193	0170	4071005	TACK COAT	\$2.03	18345.00	0.00	18,345.00	\$0.00	
	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	\$0.09	178726.00	0.00	178,726.00	\$0.00	
	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	\$0.09	158130.00	0.00	158,130.00	\$0.00	
	5101	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	\$2500.00	0.00	2.00	2.00	\$5000.00	
J9S3193									

			0000100					Ψ0000.00
Project Number	Line Item Number	Item Code	Description	Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate
J9S3194	0330	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	\$51.35	3250.50	0.00	3,250.50	\$0.00
	0380	6161009	FLAG ASSEMBLY	\$20.00	4.00	2.00	6.00	\$40.00
	5201	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	\$2500.00	0.00	1.00	1.00	\$2500.00
			J9S3194					\$2540.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

			17 12 13-1102	0010	Julie 2, 2019	Julie 30, 2013	July	1, 2013	11100		OL	1100	
All Items	, This Estir	nate:											
Project Number	Line Item Number	Item Code		Description					us Total Quantity	Quantity this Period		Quantity to Date	Amount this Estimate
J9S3343	5301	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/				500.00		0.00	2.	00	2.00	\$5000.00
	5302	6161008	ADVANCED WARNING	RAIL SYSTEM			\$75.00		0.00	2.	00	2.00	\$150.00
J9S3343											\$5150.00		
Project Number	Line Item Number	Item Code		Descrip	tion		Unit Price		us Total Quantity	Quantity this Perio		Quantity to Date	Amount this Estimate
J9S3429	0570	4011211	BITUMINOUS PAVEMEN	NT MIXTURE PG	664-22, (BP-2)		\$53.25		3148.30	0.	00	3,148.30	\$0.00
	5401	6161098A	CMS W/O COMMUNICA	TION INTERFAC	CE, CONT F/	\$2	500.00		0.00	1.	00	1.00	\$2500.00
J9S3429											\$2500.00		
Summary											\$17850.00		

Project	Category	Line	Item	Description	Current	Current	Unit	Amount
Project Number	#	Number	Code	Description	Bid + CO	Installed to Date	Price	Paid to Date
J9S3192	0001	0010	1041000	TEMPORARY SURFACING	0.00	0.00	\$40.50	\$0.00
J9S3192	0001	0020	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,740.80	9740.80	\$51.75	\$504,086.40
J9S3192	0001	0030	4071005	TACK COAT	11,558.00	11558.00	\$2.04	\$23,578.32
J9S3192	0001	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$500.00	\$1,000.00
J9S3192	0001	0050	6161005	CONSTRUCTION SIGNS	1,649.00	1649.00	\$6.25	\$10,306.25
J9S3192	0001	0060	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$75.00	\$150.00
J9S3192	0001	0070	6161009	FLAG ASSEMBLY	12.00	12.00	\$20.00	\$240.00
J9S3192	0001	0800	6161025	CHANNELIZER (TRIM LINE)	0.00	0.00	\$5.00	\$0.00
J9S3192	0001	0090	6181000	MOBILIZATION	1.00	1.00	\$55700.00	\$55,700.00
J9S3192	0001	0100	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	110,148.00	110148.00	\$0.10	\$11,014.80
J9S3192	0001	0110	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	104,321.00	104321.00	\$0.09	\$9,388.89
J9S3192	0001	0120	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	536.00	536.00	\$15.20	\$8,147.20
J9S3193	0001	0130	1041000	TEMPORARY SURFACING	100.00	100.00	\$40.50	\$4,050.00
J9S3193	0001	0140	2022010	REMOVAL OF IMPROVEMENTS	1.00	1.00	\$4300.00	\$4,300.00
J9S3193	0001	0150	2153000	SHAPING SLOPES, CLASS III	6.00	6.00	\$1400.00	\$8,400.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Project	Category	Line	Item	Description	Current	Current	Unit	Amount
Number	#	Number	Code	Beschption	Bid + CO	Installed to Date	Price	Paid to Date
J9S3193	0001	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	14,792.70	14792.70	\$53.75	\$795,107.62
J9S3193	0001	0170	4071005	TACK COAT	18,345.00	18345.00	\$2.03	\$37,240.35
J9S3193	0001	0180	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$500.00	\$1,000.00
J9S3193	0001	0190	6161005	CONSTRUCTION SIGNS	2,708.00	2708.00	\$6.25	\$16,925.00
J9S3193	0001	0200	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$75.00	\$150.00
J9S3193	0001	0210	6161009	FLAG ASSEMBLY	4.00	4.00	\$20.00	\$80.00
J9S3193	0001	0220	6161025	CHANNELIZER (TRIM LINE)	0.00	0.00	\$5.00	\$0.00
J9S3193	0001	0230	6181000	MOBILIZATION	1.00	1.00	\$56500.00	\$56,500.00
J9S3193	0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	178,726.00	178726.00	\$0.09	\$16,085.34
J9S3193	0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	158,130.00	158130.00	\$0.09	\$14,231.70
J9S3193	0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,562.00	1562.00	\$3.85	\$6,013.70
J9S3193	0001	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	879.00	879.00	\$3.55	\$3,120.45
J9S3193	0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	4.00	\$2950.00	\$11,800.00
J9S3193	0010	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	4.00	\$2700.00	\$10,800.00
J9S3194	0001	0300	1041000	TEMPORARY SURFACING	0.00	0.00	\$40.50	\$0.00
J9S3194	0001	0310	2022010	REMOVAL OF IMPROVEMENTS	1.00	1.00	\$4300.00	\$4,300.00
J9S3194	0001	0320	2153000	SHAPING SLOPES, CLASS III	6.00	6.00	\$1400.00	\$8,400.00
J9S3194	0001	0330	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,250.50	3250.50	\$51.35	\$166,913.18
J9S3194	0001	0340	4071005	TACK COAT	3,684.00	3684.00	\$2.02	\$7,441.68
J9S3194	0001	0350	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$500.00	\$1,000.00
J9S3194	0001	0360	6161005	CONSTRUCTION SIGNS	880.00	880.00	\$6.25	\$5,500.00
J9S3194	0001	0370	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$75.00	\$150.00
J9S3194	0001	0380	6161009	FLAG ASSEMBLY	6.00	6.00	\$20.00	\$120.00
J9S3194	0001	0390	6161025	CHANNELIZER (TRIM LINE)	10.00	10.00	\$5.00	\$50.00
J9S3194	0001	0400	6181000	MOBILIZATION	1.00	1.00	\$27500.00	\$27,500.00
J9S3194	0001	0410	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT,	35,734.00	35734.00	\$0.10	\$3,573.40



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Estimate	Item Detai	il, All Iten	ns to Date:					
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
				TYPE P BEADS				
J9S3194	0001	0420	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	33,469.00	33469.00	\$0.09	\$3,012.21
J9S3194	0001	0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	722.00	722.00	\$5.80	\$4,187.60
J9S3194	0010	0440	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	4.00	\$2950.00	\$11,800.00
J9S3194	0010	0450	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	4.00	\$2700.00	\$10,800.00
J9S3343	0001	0460	3105002	GRAVEL (A) OR CRUSHED STONE (B)	0.00	0.00	\$19.95	\$0.00
J9S3343	0001	0470	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	8,523.70	8523.70	\$51.50	\$438,970.55
J9S3343	0001	0480	4071005	TACK COAT	6,806.00	6806.00	\$2.00	\$13,612.00
J9S3343	0001	0490	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$500.00	\$1,000.00
J9S3343	0001	0500	6161005	CONSTRUCTION SIGNS	1,228.00	1228.00	\$6.25	\$7,675.00
J9S3343	0001	0510	6161009	FLAG ASSEMBLY	10.00	10.00	\$20.00	\$200.00
J9S3343	0001	0520	6161025	CHANNELIZER (TRIM LINE)	0.00	0.00	\$5.00	\$0.00
J9S3343	0001	0530	6181000	MOBILIZATION	1.00	1.00	\$40142.44	\$40,142.44
J9S3343	0001	0540	6200013	COLD APPLIED TAPE PAVEMENT MARKING, 24 IN. WHITE	20.00	20.00	\$25.00	\$500.00
J9S3343	0001	0550	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	197,737.00	197737.00	\$0.09	\$17,796.33
J9S3343	0001	0560	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	372.20	372.20	\$1.00	\$372.20
J9S3429	0001	0570	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	3,148.30	3148.30	\$53.25	\$167,646.98
J9S3429	0001	0580	4071005	TACK COAT	1,765.00	1765.00	\$2.28	\$4,024.20
J9S3429	0001	0590	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	2.00	\$500.00	\$1,000.00
J9S3429	0001	0600	6161005	CONSTRUCTION SIGNS	1,086.00	1086.00	\$6.25	\$6,787.50
J9S3429	0001	0610	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$75.00	\$150.00
J9S3429	0001	0620	6161009	FLAG ASSEMBLY	2.00	2.00	\$20.00	\$40.00
J9S3429	0001	0630	6161025	CHANNELIZER (TRIM LINE)	0.00	0.00	\$15.00	\$0.00
J9S3429	0001	0640	6181000	MOBILIZATION	1.00	1.00	\$29800.00	\$29,800.00
J9S3429	0001	0650	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	115.00	115.00	\$5.00	\$575.00
J9S3429	0001	0660	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	53.00	53.00	\$20.00	\$1,060.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

Estimate	Item Detai	il, All Iten	ns to Date:					
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J9S3429	0001	0670	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11,236.00	11236.00	\$0.10	\$1,123.60
J9S3429	0001	0680	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYP E P BEADS	17,626.00	17626.00	\$0.10	\$1,762.60
J9S3429	0001	0690	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS) $$	10,383.00	10383.00	\$1.90	\$19,727.70
J9S3429	0001	0700	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,701.00	1701.00	\$1.70	\$2,891.70
J9S3192	0001	5001	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	1.00	1.00	\$2500.00	\$2,500.00
J9S3193	0001	5101	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	2.00	2.00	\$2500.00	\$5,000.00
J9S3194	0001	5201	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	1.00	1.00	\$2500.00	\$2,500.00
J9S3343	0001	5301	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	2.00	2.00	\$2500.00	\$5,000.00
J9S3343	0001	5302	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	2.00	\$75.00	\$150.00
J9S3429	0001	5401	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	1.00	1.00	\$2500.00	\$2,500.00

Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LN
J9S3192	0070	6161009	FLAG ASSEMBLY	20190630	voyleb1	Flag Assembly	8	EA		+	0		0		+	0		0	1	0
	5001	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	20190630	voyleb1	CMS	1	EA		+	0		0		+	0		0	1	0
Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To
J9S3193	5101	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	20190630	voyleb1	CMS	2	EA		+	0		0		+	0		0	1	0
Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LN
J9S3194	0380	6161009	FLAG ASSEMBLY	20190630	voyleb1	Flag Assembly	2	EA		+	0		0		+	0		0	1	0
	5201	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	20190630	voyleb1	CMS	1	EA		+	0		0		+	0		0	1	0



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
171215-H02	0010	June 2, 2019	June 30, 2019	July 1, 2019	PROG	SE	HCG

The info	rmati	on below	this line is supplemental	to the Es	timate	and is provide	d for co	nfirm	ation	of	de	tail, lo	cation a	nd	qu	ant	ity of	work.		
Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LM
J9S3343	5301	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	20190630	voyleb1	CMS	2	EA		+	0		0		+	0		0	1	0
	5302	6161008	ADVANCED WARNING RAIL SYSTEM	20190630	voyleb1	AWRS	2	EA		+	0		0		+	0		0	1	0
Project Number	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LM
J9S3429	5401	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	20190630	voyleb1	CMS	1	EA		+	0		0		+	0		0	1	0

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field